
(1) 
 

R A M A K R I S H N A  M I S S I O N  V I D Y A M A N D I R A  

(Residential Autonomous College under University of Calcutta) 
 

B.A./B.Sc. FOURTH SEMESTER EXAMINATION, MAY 2014 
SECOND YEAR 

Date : 23/05/2014  PHILOSOPHY (Honours)  

Time : 11 am – 3 pm Paper : IV Full Marks : 100 

 
 

    S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þîûV 
 

    !î¦þy† éôé „þ 
 

    £zvþz!˜Ýþ éô 1 

1Ð öë ö„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒééôôôé S2 × 5V 
 

 „þV ²Ì!“þîû*þ™# îlßþîy” „þyöì„þ îöìœÚ 
 …V ›%…Ä ç ö†ï’ =öì’îû ›öì„Ä œ„þ öë þ™yíÅ„þÄ „þöìîûöìŠé˜ îy„þÅöìœ “þy „þ#¦þyöìî …[þ˜ „þöìîûöìŠé˜Ú 
 †V 'Tabula rasa' îœöì“þ œ„þ „þ# î%!GþöìëûöìŠé˜Ú ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 
 ‡V 'Esse est percipi' vþz!_«!Ýþöì“þ îy„Åþöìœ „þ# î%!GþöìëûöìŠé˜Ú 
2Ð öë ö„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒééôôôé S1 × 15V 

 „þV ¢£‹y“þ „yîû’y îœöì“þ „þ# öîyGþyëûÚ œ„þ „þ#¦þyöìî ¢£‹y“þ „yîû’yîy”öì„þ …uþ˜ „þöìîû̃ Ú S4 + 11V 
 …V îy„Åþöìœîû ”ŸÅöì˜ {Ù»öìîûîû ¦)þ!›„þy „þ#Ú xyöìœy‰þ˜y „þîûÐ S15V 
 

    £zvþz!˜Ýþ éô 2 

3Ð öë ö„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒééôôôé S2 × 5V 
 

 „þV ›%o’ ç „yîû’yîû ›öì„Ä !£vþz› „þ#¦þyöìî þ™yíÅ„þÄ „þöìîûöìŠé˜Ú 
 …V !£vþzöì›îû ¢‚ë“þ ¢‚Ÿëûîy” ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þîûÐ 
 †V „þyrÝþ „þ#¦þyöìî !îöìÙÕ¡ì„þ xî„yîûöì’îû ¢‚Kþy !”öìëûöìŠé˜Ú vþz”y£îû’ ¢£ îÄy…Äy „þîûÐ 
 ‡V þ™)îÅ“þƒ!¢kþ ç þ™îû“þƒ¢y„Ä xî„yîûöì’îû ›öì„Ä „þyrÝþ „þ#¦þyöìî þ™yíÅ„þÄ „þöìîûöìŠé˜Ú 
4Ð öë ö„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒééôôôé S1 × 15V 
 „þV „þyîû’ ç „þyöìëÅîû ›öì„Ä ¢Á™„Åþöì„þ !£vþz› „þ#¦þyöìî îÄy…Äy „þöìîûöìŠé˜Ú ¢!î‰þyîû xyöìœy‰þ˜y „þîûÐ S15V 
 …V „þyöìrÝþîû Critique of Pure Reason @ùÌöìsþiîû ¢y„yîû’ ¢›¢Äy!Ýþ !îŸ”¦þyöìî îÄy…Äy „þîûÐ S15V 
 

    !î¦þy† éôé … 
 
 

    £zvþz!˜Ýþ éô 1 

5Ð öë ö„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒééôôôé S2 × 5V 
 

 „þV ò!î¢‚îy”# xöìíÅ xíîyó ~î‚ òx!î¢‚îy”# xöìíÅ xíîyó éôôôé~öì”îû ›öì„Ä þ™yíÅ„þÄ „þîûÐ 
 …V îlßþ†“þ ²Ì¢!_«îû „)þÝþy¦þy¢=!œ vþzöìÍÔ…þ™)îÅ„þ îÄy…Äy „þîûÐ 
 †V !‰þhsþyîû ¢)eyîœ# ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 
 ‡V ö„þyëûy£z̃ öì„þ x %̃¢îû’ „þöìîû ÷î„ îy„þÄy„þyîû ç ¢D!“þþ™)’Å îy„þÄy„þyöìîûîû ›öì„Ä þ™yíÅ„þÄ „þîûÐ 
 

6Ð öë ö„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒééôôôé S1 × 15V 

 „þV i) ¢“þÄ¢yîû’# þ™kþ!“þîû myîûy !˜’Åëû „þîû !˜Á¬!œ!…“þ î‰þ˜y„þyîû=!œ ßþº“þƒ¢“þÄ‟ ßþº“þƒ!›íÄy xíîy xyþ™!“þ„þÐ S2 + 2V 
   xV [( ) ( )]p q q p    
   xyV ( ) ( . )pv q q p  

  ii) ¢“þÄ¢yîû!’ þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«=!œîû ÷î„“þy !î‰þyîû „þîû ƒ S3 + 3V 

   xV 

( ) ( . )

( )

( . )

IvJ I J

IvJ

I J





 

   xyV ë!” vþz@ùÌþ™sþi#öì”îû ”yî# ›y˜y £ëû “þy£öìœ xîûy‹„þ“þy þ™%îûßþ,ñ“þ £öìîÐ ë!” vþz@ùÌþ™sþi#öì”îû ”yî# ˜y ›y˜y £ëû 
“þy£öìœ !˜îûþ™îûy„ þ™’î¨#öì”îû £“þÄy „þîûy £öìîÐ ¢%“þîûy‚ £ëû xîûy‹„þ“þy þ™%îûßþ,ñ“þ £öìî xíîy !˜îûþ™îûy„ 
þ™’î¨#öì”îû £“þÄy „þîûy £öìîÐ 



(2) 
 

  iii) ~„þ!Ýþ x÷ìî„ îy„þÄy„þyîû öíöì„þ !˜öìîŸöì̃ îû ›y„Äöì› ÷î„ îy„þÄy„þyîû þ™yçëûy !„þ ¢½þîÚ vþz_öìîûîû ¢›íÅöì˜ ë%!_« 
”yçÐ  S2.5V 

  iv) ~„þ!Ýþ ßþº“þƒ¢“þÄ îy„þÄöì„þ !˜öì¡ì„ „þîûöìœ „þ# îy„þÄ þ™yçëûy ëyëûÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ S2.5V 
 …V i) œ‡%„þîû’ þ™kþ!“þîû ¢y£yöìëÄ !˜’Åëû „þîû ²Ì”_ îy„þÄy„þyîû ”%!Ýþîû ›öì„Ä ¢›yíÅ„þ“þyîû ¢Á™’Å xyöìŠé !„þ˜y ƒ 
   ( . ),( ).( )p q q pvq pv q  S3V 
  ii) !˜Á¬!œ!…“þ îy„þÄy„þyîû=!œîû ›öì„Ä „þ#îû*þ™ ²Ì!“þþ™!_îû ¢Á™„Åþ xyöìŠé “þy þ™Çþþ™y“þ˜ þ™kþ!“þîû ¢y£yöìëÄ !˜’Åëû 

„þîû ƒ 

   
.( )p p q

q


 S2.5 + 2.5V 

  iii) œ‡%„þîû’ þ™kþ!“þîû myîûy ë%!_«!Ýþîû ÷î„“þy !î‰þyîû „þîû ƒ 

   

( )

( )

( )

 

 

  

P Q R

Q R S

P Q S

 S4V 

  iv) „þ…˜ îœy ëyöìî öë ”%!Ýþ ¢“þÄyöìþ™Çþ îy„þÄ þ™îûßþ™îû ¢›yìíÅ„þÚ öë ö„þyöì˜y ”%!Ýþ îy„þÄy„þyîû vþzöìÍÔ… „þîû ëy 'p' 

~îû ¢yöìí ¢›yíÅ„þÐ S2 + 1V 
 

     £zvþz!˜Ýþ éô 2 

7Ð öë ö„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒééôôôé S2 × 5V 
 

 „þV ¢y!îÅ„þ ¢y›y˜Ä#„þîû’ !î!„ (UG) vþz”y£îû’¢£ îÄy…Äy „þîûÐ 
 …V x %̃›yöì˜îû ¢)e ç ²Ì!“þßþiyþ™öì˜îû ¢)öìeîû ›öì„Ä þ™yíÅ„þÄ=!œ ”,ÜTyhsþ¢£ xyöìœy‰þ˜y „þîûÐ 
 †V i) îy‰þ!˜„þ xöìþ™Çþ„þ     ç 
  ii) ¢îûœ !îöì„ëû éôôôé~îû œÇþ’ ”yçÐ 
 ‡V !î!£“þy„þyîû (Normal form formula) „þyöì„þ îöìœÚ !˜Á¬!œ!…“þ îy„þÄ!Ýþöì„þ ¢›yíÅ„þ !î!£“þy„þyöìîû ²Ì„þyŸ „þîû ƒ 
  ( )( )x Sx Px  

8Ð öë ö„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒééôôôé S1 × 15V 

 „þV !˜Á¬!œ!…“þ ë%!_«=!œîû xy„þyîû†“þ ÷î„“þy †àþ˜ „þîû Söëöì„þy˜ !“þ˜!ÝþV ƒ S3 × 5V 

  i) 
w w

cvD




 

  ii) /A Bv B  

  iii) ö›ï›y!Šé ç öîyœ“þy ”‚Ÿ˜ „þöìîû ë!” “þyîûy e%«kþ £ëû xíîy ¦þ#“þ £ëûÐ ¢%“þîûy‚ öë ö„þy˜ ö›ï›y!Šé ”‚Ÿ˜ „þöìîû 
ë!” “þy e%«kþ £ëûÐ 

  iv) !£vþz› ~„þ‹˜ ¢‚Ÿëûîy”#Ð !„þlsþ œ„ä  “þy ˜˜Ð ¢%“þîûy‚ ²Ìöì“þÄöì„þ £ëû ¢‚Ÿëûîy”# xíîy ¢‚Ÿëûîy”# ˜ëûÐ 
 …V i) ›y˜„þ‟ îÄ!_«@ùÌy£„þ £z“þÄy!”îû ¢y£yöìëÄ !˜öìÁ¬y_« îy„þÄ=!œöì„þ ²Ì“þ#„þy!ëû“þ „þîû ƒ Söëöì„þy˜ !“þ˜!ÝþV S2 × 3V 
   xV öŠéöìœîûy ç ö›öìëûîûy þ™!îû×›# ç x %̃†“þÐ 
   xyV ö„þy˜ !˜öìëûy†„þ“Åþy !ë!˜ x!îöìî‰þ„þ xíîy x“þÄy‰þyîû#‟ ˜˜ ¢šþœÐ 
   £zV ŸÄy›œ ¦þyœ Šéye‟ !„þlsþ ¦þyœ †yëû„þ ˜ëûÐ 
   {V !„þŠ%é …yîyîû …yçëûyîû öëy†Ä £ëû ö„þîœ ë!” “þy îûy§¬y „þîûy £ëûÐ 
   vþzV ö„þyöì˜y †yvþü# !˜îûyþ™” ˜ëû ë!” ˜y “þyöì“þ ¦þyöìœy öîÊ„þ íyöì„þÐ 
  ii) ¢“þÄ›)œÄ xyöìîûyþ™ þþ™kþ!“þöì“þ !˜Á¬!œ!…“þ ë%!_«=!œîû x÷ìî„“þy ²Ì›y’ „þîû ƒ Söëöì„þy˜ !“þ˜!ÝþV S3 × 3V 
   xV ( ) ( ) SvT S T  

    

( ) ( )  

 

S T T K

SvT

S K

 

 

   xyV ( )[( ) ]x AxV Bx Cx  

    
( )[( . ) ]

( ) ( )



 

x Cx Dx Ex

x Ax Ex
 

   £zV ö„þyöì˜y ö„þyöì˜y îûy‹˜#!“þ!î” £ëû ö˜“þyÐ ö„þyöì˜y ö„þyöì˜y ö˜“þy ˜ëû îy@Â#Ð ¢%“þîûy‚ ö„þyöì˜y ö„þyöì˜y 
îy@Â# ˜ëû îûy‹˜#!“þ!î”Ð 



(3) 
 

   {V !ßþ¿í ë!” î%!kþ›y˜ £ëû ~î‚ ¦þyœ¦þyöìî þ™vþüyÖ˜y „þöìîû “þy£öìœ ö¢ ¦þyœ ˜Áºîû þ™yöìî ~î‚ þ™îû#Çþyëû 
þ™yŸ „þîûöìîÐ !ßþ¿í ë!” ¦þyœ¦þyöìî þ™vþüyÖ˜y „þöìîû !„þlsþ î%!kþ›y˜ ˜y £ëû “þy£öìœ “þyîû ²Ìöì‰þÜTy ²ÌŸ‚!¢“þ 
£öìî ~î‚ “þyîû ²Ìöì‰þÜTy ë!” ²ÌŸ‚!¢“þ £ëû “þy£öìœ ö¢ þ™îû#Çþyëû þ™yŸ „þîûöìîÐ ë!” !ßþ¿í î%!kþ›y˜ £ëû 
“þy£öìœ ö¢ ¦þyœ¦þyöìî þ™vþüyÖ˜y „þîûöìîÐ ¢%“þîûy‚ !ßþ¿í þ™îû#Çþyëû þ™yŸ „þîûöìîÐ 

 

    English Version : 

    Group – A 

    Unit - I 
 

1. Answer any two of the following :- (2 × 5) 

 a) What is representative realism? 

 b) How does Berkeley refute Locke's distinction between primary and secondary qualities? 

 c) What does Locke mean by 'tabula rasa'? Explain briefly. 

 d) What is meant by Berkeley in the statement 'esse est percipi'? 

2. Answer any one of the following :- (1 × 15) 

 a) What is meant by 'innate ideas'? How does Locke refute the doctrine of innate ideas? (4 + 11) 

 b) What is the role of God in Berkeley's philosophy? (15) 
 

    Unit - II 
 

3. Answer any two of the following :- (2 × 5) 

 a) How does Hume distinguish between impression and ideas? 

 b) Discuss in brief, Hume's moderate scepticism. 

 c) How does Kant define analytic judgement? Explain and illustrate. 

 d) How does Kant distinguish between apriori and aposteriori judgements? 

4. Answer any one of the following :- (1 × 15) 

 a) How does Hume explain the relation between cause and effect? Discuss critically. (15) 

 b) Explain, in detail, the general problem of Kant's Critique of Pure Reason. (15) 
 

    Group – B 

    Unit - I 
 

5. Answer any two of the following :- (2 × 5) 

 i) Distinguish between exclusive sense of 'Or' and inclusive sense of 'Or'. 

 ii) State and explain the paradoxes of material insplication. 

 iii) Explain, brifly different laws of thought. 

 iv) Distinguish after Quine, between a valid schema and a consistent sehema. 

6. Answer any one of the following :- (1 × 15) 

 a) i) Determine, by truth table method, whether the following forms of propositins are 

tautologous, self-contradictory or contingent. (2 + 2) 

   a) [( ) ( )]p q q p    
   b) ( ) ( . )pv q q p  
  ii) Test the validity of the following arguments by the truthtable method : (3 + 3) 

  a) 

( ) ( . )

( )

( . )

IvJ I J

IvJ

I J





 

  b) If terrorists demands are met, then lawlessness will be rewarded. If terrorists' 

demands are not met, then innocent hostages will be murdered. So either 

lawlessness will be rewarded or innocent hostages will be murdered. 

  iii) Is is possible to obtain a valid schema from an invalid one by substitution? Give 

reason for your answer. (2.5) 
  iv) What type of statement do we get by negating a tautologous statement? Explain with 

example. (2.5) 
 b) i) Determine by the method of resolution, whether the following schemata are 

equivalent. (3) 

   ( . ),( ).( )p q q pvq pv q  



(4) 
 

  ii) Determine by the method of fell swoop what implications hold between the 

following schemata : (2.5 + 2.5) 

   
.( )p p q

q


 

  iii) Test the validity of following argument by the method of resolution. (4) 

   

( )

( )

( )

 

 

  

P Q R

Q R S

P Q S

 

  iv) When can it be said that two truth functional schemata are equivalent? State any two 

statement schemata which are equivalent to 'p'. (2 + 1) 
 

    Unit - II 

7. Answer any two of the following :- (2 × 5) 

 i) Explain with example the rule of Universal Generalization. 

 ii) Distinguish with examples between rules of inference and rules of replacement. 

 iii) Define a) Propositional function and b) Simple predicate. 

 iv) What is a normal form formula? express the following into a normal form formula : 

  ( )( )x Sx Px  
 

8. Answer any one of the following :- (1 × 15) 

 a) Construct formal proof of a validity for the following arguments (any three) (3 × 5) 

  i) w w  

   CvD  

  ii) /A Bv B  

  iii) Bees and wasps sting if they are either angry or frightened. Therefore, any bee stings 

if it is angry. 

  iv) Hume is a sceptic, but locke is not. So, everyone is either a sceptic or not a sceptic. 

 b) i) Symbolize the following sentences by using quantifiers, individual variables etc. 

(any three) (2 × 3) 

   a) Boys and girls are diligent and obedient. 

   b) No employer who is either inconsiderate or tyrannical is successful. 

   c) Shyamal is a good student, but not a good singer. 

   d) Some foods are edible only it they are cooked. 

   e) No car is safe unless it has good brakes. 

  ii) Prove invalidity of following arguments by the method of truth value assignment 

(any three) (3 × 3) 

   a) 

( ) ( )

( ) ( )

SvT S T

S T T K

SvT

S K

 

  

 

 

 

   b) 

( )[( ) ]

( )[( . ) ]

( ) ( )

x AxV Bx Cx

x Cx Dx Ex

x Ax Ex





 

 

   c) Some politicians are leaders. Some leaders are not orators. Therefore some 

orators are not politicians. 

  d) If smith is intelligent and studies hard then he will get good marks and pass his 

Examination. If smith studies hard but lacks intelligence then his efforts will be 

appreciated and if his efforts are appreciated then he will pass his examination. 

If smith is intelligent then he studies hard. Therefore smith will pass his 

examination.   



 


